N of reco track vs hit

10

10?

10

o
T

=
T

of

1:0 1;5 2:0'

25 30 35 40

N of associated (recoToSim) tracks vs hit

10*

10°

10?

10

i
Ty

095716 15 20 25 30

10

10°

10?

o

10f- e e e e e

Ly

of

N of associated (recoToSim) duplicate tracks vs hit

—— DQM_TT__mkFit-DQM_lowptq_orig

[Nofresomackvsy —— DQM_TT___mkFit-DQM_lowptg_modi

10*
10°
10°

10

o

iy
I
T

LU

21416

10

i
iy

LU

| N of associated (recoToSim) tracks vs pixellayer

[ Nof associated (recoToSim) tracks vs 3D layer

10*

10

T

o

=
T

0934 6 8 10 12 14 16 18 20

10

o
iy

iu:+.
TP+

0% "2 4 6 8 10 12 14 16 16 20

N of associated (recoToSim) duplicate tracks vs pixellayer

£
%12 3 4 5 6 7

10



	Contents
	Page 1


